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QUESTION 1

Exhibit

ALA-1# configure router

ALA-1>config»rcuter# router-id 138.120.54.73
ALA-l1>config>rcuter# ospf

ALA-1>config>rcuter>ospfs area 0.0.0.0
ALA-1>config>rcuter>ospf>area$ interface ALA-2
AlA-1>config>rcuter>ospf>area>if# interface-type broadcast
ALA-1>configrrcuterroapfrarea>ifé metric 100
ALA-1>config>rocuterrogpfzarea>if# priority 25
ALA-1>configrrcuter>ospfrarear>if# exit

*ALA-Z# configure router

*ALA-2>configrrouter# router-id 138.120.54.72
*ALA-2>configrrouter# ospf
*ALA-2>configrrouter>ospfs area 0.0.0.0
*ALA-Z>configrrouter>ospizareal interface ALA-1

*ALA-2>configrrouter>ospfrarea>if# interface-type point-to-
point

sALA-Zrconfigrroutersospi>area>if# metric 10
*ALR-2>config>router>ospfrarea>if# priority 25
*ALr-2>»config>routerrospfrarea>if# exit
sALA-2>config>router-ospfrarea# interface system

Given the two configurations shown, identify the two incorrect statements below: (Choose two)
A. Both routers will generate OSPF Hello packets.

B. The system interface is missing in one configuration so OSPF will not operate correctly.

C. The interface type settings differ, but OSPF will still operate correctly.

D. Metric values differ, but this does not prevent OSPF operation.

Correct Answer: BC
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QUESTION 2

What is the default Nokia 7750 SR TTL of a BGP advertisement between confederation members?
Al

B. 32

C.64

D. 255

Correct Answer: A

QUESTION 3

In an IP datagram, which of the following fields identifies the receiving application?
A. The protocol field of the transport layer header.

B. The port field of the transport layer header.

C. The protocol field of the network layer header.

D. The port field of the network layer address.

Correct Answer: B

QUESTION 4

Click on the exhibit.
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R2 : R3

= LSP1toR6

R4 : RS

When router R1 forwards a PATH message to router R2, which of the following about the PATH message\\'s IP header
is TRUE?

A. The options field is set to router alert.

B. The source address is R1\\'s egress interface address.

C. The destination address is R2\\'s ingress interface address.
D. The HOP object includes R2\\'s system address.

Correct Answer: A

QUESTION 5

If OSPF is used in a multi-area OSPF network, which of the following statements regarding route summarization is
true?

A. Manual route summarization can only be done on autonomous system border routers.

B. Manual route summarization must be done on all the backbone routers to be effective. Manual route summarization
is optional on the routers in non-backbone areas.

C. Manual route summarization is done on the ABRs. By default, automatic summarization is done; however, it may not
be optimal for all networks.

D. Manual route summarization is done on the ABRs. By default, no route summarization is done and all routes are
advertised to all areas.

Correct Answer: D
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